
 

l;=g 
ljlgof]lht 

lzif{s 
of]hgfsf] gfd 

 

ljlgof]lht /sd ?= 

 

1 
k"jf{wf/ ljsf; afx'g]kf^L, vqL^f]n, yfSn], dfg]e~ofË,l;Gw'sf]^ 

df]=jf= dd{t 
1000000.— 

2 
k"jf{wf/ ljsf; cdn]*f+*f,gf/fo)f^f/,Rofg*f+*f lzjz+v/]Zj/ 

df]=jf= dd{t 1000000.— 

3 k"jf{wf/ ljsf; dfg] lu/fGrf}/, Plss[tj:tL df]=jf= dd{t 200000.— 

4 k"jf{wf/ ljsf; lu/fGrf}/, Plss[t gd'gfj:tL k"jf{wf/ ljsf; 400000.— 

5 k"jf{wf/ ljsf; gd'gf dlxnf jrt tyf C)f ;xsf/L ejg lgdf{)f 500000.— 

6 k"jf{wf/ ljsf; :jf:Yo rf}sL k"jf{wf/ ljsf; sfo{s|d 200000.— 

7 k"jf{wf/ ljsf; j*f g+=—12 sf ;fgf k"jf{wf/x? dd{t ;'wf/ sfo{s|d 500000.— 

8 k"jf{wf/ ljsf; &f+^L (f]*]gL ;'u'/rf}/ df]=jf= lgdf{)f 300000.— 

9 cfly{s ljsf; s[lif sfo{s|d  200000.— 

10 
;fdflhs ljsf; hfNkfb]jL df=lj= Joj:yfkg -lj!fg k|of]uzfnfsf] 

;fdfg vl/b_ 500000.— 

11 ;fdflhs ljsf; (sfnyf]s vfg]kfgL dd{t 500000.— 

12 ;fdflhs ljsf; sfnLsf df=lj= Joj:yfkg -kmlg{r/ vl/b_ 300000.— 

13 ;fdflhs ljsf; nlIftju{ cGt{utsf sfo{s|dx? ;++rfng 200000.— 
                  hDdf ?=     5800000.— 
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